
Class -2, Subject-Mathematics. 

Chapter-5, Subtraction 

 

Q.1. Subtract the following:  

 

(a) 8  -  4  =      (b) 9  -  3  =   

(c) 7  -  1  =      (d) 11  -  7 =    

(e)   8  -  1  =      (f)  15  -  8  =   

 

Q.2. Subtract vertically in your notebook to find the answer: - 

(a) 58  -  42 16 
     

(b) 67  -  26 41 
    

(c)  75  -  13 62 
     

(d) 98  -  11 87 
  

(e) 85  -  55 30 
     

(f) 79  -  26 33 
    

(g) 98  -  42 56 
     

(h) 86  -  64 22 
  

(i) 75  -  53 22 
                                                                          

Q.3. Subtraction of three-digit numbers. 

 

                                                                             

 

 

     

 

                                                                                                                

           

 

 

      

 

 

   
 
- 

H T O 
3 8 5 
1 7 2 
2 1 3 

 
 
- 

H T O 
1 9 9 
 3 8 
1 6 1 

 
 
- 

H T O 
9 4 5 
2 1 4 
7 3 1 

   
 
- 

H T O 
8 1 9 
6 0 4 
2 1 5 

   
 
- 

H T O 
1 1 9 
1 0 7 
0 1 2 

   
 
- 

H T O 
8 8 2 
2 3 1 
6 5 1 
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Q.4. Find the difference: - 

 

                                                                             

 

 

                                                                                                                    

           

 

 

      

 

 

        

 

 

 

   
 
- 

H T O 
7 0 1 
5 0 0 
2 0 1 

   
 
- 

H T O 
6 8 2 
2 6 2 
4 2 0 

   
 
- 

H T O 
3 7 9 
1 6 5 
2 1 4 

   
 
- 

H T O 
6 5 9 
1 2 3 
5 3 6 

   
 
- 

H T O 
7 8 6 
6 8 3 
1 0 3 

   
 
- 

H T O 
1 9 9 
1 7 7 
0 2 2 

   
 
- 

H T O 
5 1 2 
1 0 1 
4 1 1 

   
 
- 

H T O 
6 5 2 
4 1 2 
2 6 0 

   
 
- 

H T O 
9 9 9 
7 7 7 
2 2 2 

   
 
- 

H T O 
3 6 4 
1 2 2 
2 4 2 

   
 
- 

H T O 
8 9 6 
1 2 5 
7 7 1 

   
 
- 

H T O 
3 4 1 
2 8 5 
0 5 6 

 
 
- 

H T O 
1 6 3 
1 3 4 
0 2 9 

 
 
- 

H T O 
2 8 6 
1 8 9 
0 9 7 

   
 
- 

H T O 
4 7 6 
1 9 8 
2 7 8 

   
 
- 

H T O 
8 7 5 
3 8 6 
4 8 9 

   
 
- 

H T O 
3 8 4 
1 9 9 
1 8 5 

   
 
- 

H T O 
7 2 2 
3 4 9 
3 7 3 

   
 
- 

H T O 
9 5 5 
1 8 3 
7 7 2 

   
 
- 

H T O 
8 0 0 
6 4 5 
1 5 5 



 

 

 

 

 

 

Q.5 There are 360 dogs in an animal pound. Out of those, 275 

dogs get adopted. How many dogs are left in the pound. 

 

Ans.  

 Total Dogs in an animal pound = 360 

 No. of dogs adopted          -275 

 Left in the pound    =   85 

  

 Hence, total 85 dogs are left in the animal pound. 

 

Q.6. Anushree has 300 beads. Polly has 165 beads less than 

Anushree. How many beads does Polly have? 

 

Ans.  

 Total beads Anushree has     =  300 

 Difference of beads among Anshree and Polly       - 165 

 Total beads Polly has     = 135 

  

 Hence, Polly has 135 beads. 

 

Q.7. Simi has `300. If she spends `182 buying stationery, how 

much money is she left with? 

Ans. 

 Simi has total money  = 300 

 Spend by her    - 182 

 Total money left with her = 118 

  

 Hence, `118 only is left with her. 

   
 
- 

H T O 
3 0 0 
1 7 5 
1 2 5 

   
 
- 

H T O 
6 0 0 
1 4 9 
4 5 1 

   
 
- 

H T O 
9 2 6 
6 8 9 
2 3 7 


